Ouandru: “What kind of computer do you have?”
[pammartuka: The Genitive of personal and
interrogative pronouns
Expressing possession in Russian with
y + GEN
- Have in Russian
- The ’existence’ word ecTb ‘there
is/are’
- Possession in the Past Tense
The Genitive of Negation

Tpuauarb/ceabMoi ypok
Lesson Thirty-seven

Jmnanor

Kakown y Te6si komnbloTep? What kind of computer do you have?

Hpa B naHuke

Ira is in a panic

Caasa: |2 |Yro ¢ To606#H? UTo Cityuisioch? What'’s wrong with you? What happened?
ﬁpa: 3 | 4 kak pa3 3akaAHYMBAJIa OTPOMHOE COUMHEHMeE, a | [ was just finishing a huge paper and my
4 | MOIl KOMIIBIOTEP CJIOMAJICH. computer broke.
Caasa: |5 | Kako6ii kommap. Yewm s Mmory Te6€ moMOub? What a nightmare. How can I help you?
I/’Ipa: 6 | Kakoit y Tedst kommbtorep, PC i MakuHTOII? What kind of computer do you have, PC or Mac?
Caama: |7 | K coxanénuro y MeHsi HeT KOMITbIoTepa. Y MeEHs Unfortunately I don’t have a computer. I had a

8 | ObLT HOYTOYK, HO 5 erd mpogaa. Y Moerd cocéna
9 | ecTh KOMIBIOTED. [T0-MOemy, y Herd PC.

laptop (notebook), but I sold it. My roommate
has a computer. 1 think he has a PC.

A kako6ii y HerO mpuHTep?

What kind of printer does he have?

Caasa: | 11

V Her6 Het npuHTepa. To-ecTh, y HETO ecmb
12 | IpHHTEp, HO OH He padlTaerT.

He doesn’t have a printer. I mean, he does have
a printer, but it doesn’t work.

I/'Ipa: 13 | Kakoit xommap! What a nightmare!

CaoBapsb

1 | maHuka panic

3 | KaK pas Jjust; precisely (at this/that moment)

3 | 3akaH4yMBaii+ finish — repeated action

3 | counnénme composition; paper

4 |xommbroTep (Note the b!) computer

4 | cromaii+...cq break (down) — this Verb is intransitive

6 |y Tebs (Genitive pronoun) +NOM you have (lit.: ‘by you’) (See below for explanation of have)

6 |PC (mcn) (they use the Latin letters for this)

7 |y menst (Genitive pronoun) HeT +GEN | I don’t have...

8 | HOYTOYK notebook computer; laptop

8 |mponan or mpoman Fem mpoaana sell (Present Tense is irregular — just use the Past and Infinitive for now)
Plural npdnanu or nponanu

9 |y Hero (Genitive pronoun) €cTh he has ... (Ectb emphasizes the existence of the Noun in the Nominative)
+NOM

10 | IpUHTEP printer

11 [ T6-ecTh I'mean, ...; that is (to say) ...
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FpammaTuka

37.A

Genitive Pronouns

Genitive personal pronouns are identical to those in the Accusative, so you have nothing new to learn. (Sorry to

disappoint you.) Some of the interrogative pronouns have the -oro/-ero ending which is characteristic of the
Genitive Case. It is very important to remember that, just as with the Accusative, the 3™ person personal
pronouns (but not the possessives) begin with H- when preceded by a Preposition.

Genitive Case: Pronouns

NOMINATIVE GENITIVE
s 1 MEHSI me
THI you TeOs you
OH; OHO he; it (m)ero him, it
OHA she (n)eé her
MBI we Hac us
BEI YOU (Formal; pl) | Bac you, y’all
OHU they (H)ux them
KTO who KOro who(m)
HHUKTO no one HUKOTO no one
4TO what 4ero what
HUYEro nothing HUYEro nothing

@ Put the pronouns into the correct form:

Model: dto TTOTAPOK s (51)

1. THI

5. BHI

2.
6.

3TO0 MOTAPOK ST MEHS

OH

|

3. oHa

7. OHH

37-2
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37.b Expressing Possession in Russian: Y + Genitive

Kakon y Tebs komnetoTep? (6); Y MeHs1 Obin HOYTOYK (7)

37.5.1 Have in Russian

One verb that Russian does not have is have.' Instead, to express somebody has something, the following
construction is used:

y + “Possessor” in GENITIVE + form of be (or ecTs) + “Noun possessed” in NOMINATIVE

Literally this constructions means: By POSSESSOR (there) is/exists NOUN POSSESSED. (More on ectb and
“existence” below.) Some examples:

@ Listen and repeat all examples on this page

Y + POSSESSOR + BE + NOUN POSSESSED

(GEN)  (ECTb) (Nom)
0 Opara oTep.

Y moert Opir ecte ) KOMITBIOTEP = My brother has a computer.
By  my brother (there) is  a computer.
Y  Bépm OOJIBIIAS CTIANBHSI.

p = Vera has a large bedroom.
By Vera is a large bedroom.
Y lBana OpOTHe Yackl.

AoP ) = Ivan has an expensive watch.
By Ivan is an expensive watch.
Y  eé marepu orpOMHBIE OAHKU HKPHL. . .
p p i i p Her mother has huge jars of caviar.

By  her mother are huge jars of caviar.

Variation on a theme: You can ask someone what kind of Noun they have by using kakdéii, which agrees in
gender and number with the Nominative Noun (the thing possessed):

KAKOM + Y + POSSESSOR + BE + NOUN POSSESSED

(GEN) (Nom)

| Masculine ¢
Kakoii y  e€otua pUHTEp? = What (kind of) printer does her
What kind by  her father is printer? father have?

| Neuter @
Kakoe y  JIéBml ABO? = What (kind of) beer does Lyova
What kind by Lyova is beer? have?

| Feminine ¢
Kakas y  erod cecTpsl MaliHa? = What (kind of) car does his sister
What kind by  his sister is car? have?

| Plural *
Kakne y  uxnpodéccopa KHUTH? = What (kind of) books does their
What kind by  their professor  are books? professor have?

! Actuallz Russian does have a verb uméii+ have, but it’s used onlz with certain abstract nouns. We’ll be seein% it later on.
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Note that, just like the Accusative personal pronouns, Genitive 3 person personal pronouns are identical in form
to 3" person possessives (See 28.B). Remember that the extra u- is added when ero, eé, ux are used as personal
pronouns following a Preposition, but not when they are used as possessives:

3" PERSON GENITIVE PRONOUN 3" PERSON POSSESSIVE
(with =- after preposition) (no H- after preposition)

Y Hero xénroe nonoréune. He has a yellow VY [er6 6para] xéEnToe MOIOTEHIIE. [His brother] has a yellow
towel. towel.

Kakne wé Oproku? What kind of pants Kakne y [e€ cecTprl] Oproku? What kind of pants does
does she have? b [her sister] have?

'V HUX KpacuBBIH JIOM They have a beautiful | Y [Mx poauteneii*] kpacusblit oM. [ Their parents] have a
house. beautiful house.

*This is the Genitive plural, which we have not seen yet. We just wanted to include an example with HuX / ux.

37.b.2 The “Existence” Word: Ectb ‘there is/are’; ‘I do”
When you want to establish that fact that a thing exists (in a particular person’s possession), use ectb. This is

especially common in questions and replies. EcTb receives the stress in the sentence. The affirmative answer to
such questions is very often simply: 1a, ectb. (We’ll explore negative answers below.)

V 1ebs1 ecth KoMnbOTEp? Jla, ecTh. Do you have a computer? Yes, I do.

VY Her6 ecTb TeneBn3op? [la, ecTs. Does he have a TV? Yes, he does.

@ Ask whether the person has the thing

Example: Bopric / xommbsroTep ] Y Bopiica ecmb komnviomep?
oH / cobaka ] Y ne26 ecmw cobdra?
1. Bépa/mammrHa 2. ona/xor
3. TBI/ IpAHTEP 4. bopuc / 6pat
5. BbI/ K04 6. TBOW mpohéccop / KOMIBIOTEP
7. OHH/ CIIOBAPH 8. erod cecTpa / apyr
9. oH/4ackl 10. 3ra >xéHIumHa / My*XK

A tiny glitch: not all ~ave-constructions can have ectb. This is because not all #ave-constructions focus on the
existence of the thing itself. Instead the focus can be on either: 1) who has the thing or; 2) what kind of thing the
person has. In both cases, it is clear that the thing exists and is already in someone’s possession.
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e Focus on who has the thing (which is known to exist):

VY xord xkmrou? Y Tebs win y HeTO? Who has the key? You or him (he)?

e Focus on what kind of thing (which is known to exist) the person has:

As a general rule, don’t use ecTs if you have kak6ii or when you are including an Adjective to specify what kind
of thing you have (i.e., it is already known that you have the item):

Y MeHst xopommid koMmmbtotep. I have a good computer. 1t is known the speaker already has a computer, s/he
is simply stating that it's a good one.

V Heé MoU KIIIOU#? Does she have my 1t is known that she has someone’s keys; the speaker is
keys? simply asking whether she has his/her keys

Kakas y Te6st cobaka? What kind of dog do you It is known that the person has a dog; the speaker is
have? simply asking what kind of dog the person has.

&

To be honest, all the rules for when to include or omit ecTh can be quite tricky. (A senior thesis is just waiting to
be written about this.) For the time being, try to absorb as best as you can the guidelines we’ve outlined above,
and when in doubt, just rely on your best instinct.

% Say that the person has the thing. Don’t use ectb in these sentences.

Example: Bopric / mOBBI KOMnboTep [ Y Fopuca noswiii komnviomep.
OH / KpacuBas cobaka L] Y neeé kpacusas cobdxa.
1. Jénuc / xopommii mpuHTEp 2. Bépa/ kpacuBbie néTH
3. s/HOBag MamfHa 4. oun/orpOMHOE KOJIWYECTBO AOMAIIHEH padOThI
5. ero6 cecTpa / mocnénHee MeYéHbE 6. 3uHa / 00NBIION CTOJI
7. onu/ 6émas MamHa 8. ThI / MAJICHBKHE YN
9. oH/ crapsiii HOYTOYK 10. eé Opar / pycckas mojapyra
11. ux npodéccop / HHTEpECHBIC KHATH 12. mbl / uépHast KOIIKa
13. BBl / OYeHB KPACUBBIN JOM 14. xto / pyuka?
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______________________________________________________________________________________________________________________________________________|]

37.B.3 Possession in the Past Tense

Note that the models for the have-constructions in 37.5.1 were all in the Present Tense, in which case the verb be
= or was ectb. In the Past (and Future — we will discuss later on), the Verb must agree with the Nominative
Noun possessed.

Past Tense:
Agreement is determined by the gender and number of the Nominative noun

Y + POSSESSOR + BBLJI/A/O/ + NOUN POSSESSED

(GEN) (Nom)
| Masculine ¢
Y  mens OBLT IUIOXOH TEIEBU30D. _
By me was abad TV, = [ had/used to have a bad TV.
| Feminine *
Y  Makcnuma ObLTA HOBas pydKa. = Maksim had
By  Maksim was a new pen. aksim had a new pen.
| Neuter *
Y wmoerd 6patra  OBLIO UHTEPECHOE HCHMO. = My brother had an interesting
By  my brother was an interesting letter. letter.
| | Plural *
Kaxknie y  erocrHa 930151 JIACKU? = What (kind of) CDs did his son
What kind by  his son were CDs? have?

*** IMPORTANT: Ectb can NEVER be used in the Past or Future. ‘Existence’ and all that jazz must simply be
understood by the context.***

&

E In English the verb have agrees with the possessor, which is the Subject of the sentence: I have, !
i she has, etc. Not surprisingly it is easy to fall into the trap of making the verb and even kakéi |
i agree with the possessor in Russian as well. BE CAREFUL NOT TO DO THIS.

|
|
|
l
|
In this Lesson we see the first of several constructions in Russian where the Subject is a thing i
| (with which the verb agrees) and not a person. You need to get used to “thinking backwards”. |
i i

|

|

|

i The moral of the story: Make sure that the verb agrees with what’s called the “grammatical

g@ Put the sentences into the Past:

YV MeHs xopoias MalIlHa. Y Konu HOBBII HOYTOYK.

YV Hux xopO1me AETH. Y Bépsl HOBOE MambTO.

V Heé 0onpIag n0manb. VY Herd Mo KapaHJaIl.

N D W=
x N kN

VY Hac xopomas 6énas cobaka. VY Kkor6 Mou KiIro4un?
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37.B The Genitive of Negation

Y MeHsi HeT koMnbioTepa (7)

When you want to say that you don 't have something, the Noun (that you don’t have) goes into the Genitive and
the word mer is inserted. Such sentences do not have any Noun in the Nominative (because the person who lacks
the thing is in the Genitive following the Preposition y). For now stick to the Present Tense.

Y + POSSESSOR + HET + NOUNLACKING (INNOTHING IN NOMINATIVE!)

(GEN) (GEN)

Y  wmens HET oToammapara. ,
B . ¢ p = Idon’t have a camera.

Yy me is not camera.
Y  Camm HET MAIIHBL = Sushad i
By Sasha is not car = Sasha doesn’t have a car.
Y  Hame# néuepu  HeT MeYEHbBSI _ , .
By  our daughter is not cookie. = Our daughter doesn’t have a cookie.
Y  HuX HET KpPOBATH. _ ,
By them is not bedt = They don’t have a bed.

The “mirror image” below is a neat mnemonic for the Genitive of Negation:

GEN|NEG

Over the course of the year we will see several other instances — besides possession — in which a negated Noun
appears in the Genitive.

Negate the following sentences. (Yes, all these sentences have ecTb, even though some
contain an adjective. This won't affect your answer. As we said, it's complicated.):

1. Y MeHs ecTh KapaHJAILL. 2. Y Herod ecTh pydKa.

3. VY Bac ectb nosoTéHIE? 4. 'V 1ebs ecTh AMOHCKUN Japanese HOYTOYK.
5. 'V Annpl [TABIOBHBI €CTh J0Ub. 6. Y HUX ecTh (paHIy3cKOe BUHO.

7. 'V 3toro npodéccopa ecTh YEPHBIN rAJICTYK. 8. ¥V TBOEH cecTphl eCTh KOPUIHEBBIH IIapd.
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g Exercise 1  Fill in the blanks with the appropriate form of the pronoun. Try not to look back in
the lesson. TRANSLATE INTO ENGLISH.

1. v (oH4) cTapmmii 6par.

2. Kaxoit y (TB1) KOMITBFOTEP?

3. Y (KT0) MOM KJTFOUH?

4. v (MBI) HET COOAKM.

5. N (s1) OBLIA WTANTBSHCKAS MAITHA.
6. Kaxkoe y (oHn) BUHO?

7. v (oH) moporue yacel.

2< Exercise2 Put the following sentences into the past

1. YV Bépsl 1oporoit KOMITBIOTED.

2. Y Moerod Opara GONbIIAS CIIATBHS.
3. VY JI¥36I BKYCHOE MHBO.

4, YV Mens wioxou npodéccop.

5. VY xor6 Gonpuras 64HKa HKPEI?

6. YV BrikTopa KycOK KoJ0achl.

7. vV Onu KPACHBIC MOJIOTEHTIA.
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2< Exercise3 Negate the following sentences

1.

Y MeHs ecThb Xopommmid mpodéccop.

V Boprica ectb OyTBUIKa BOJIKH.

YV Hero ecTh NPUHTED.

YV Kups! ecTh nie4éHbe.

VY Ozéra ectb O0NBIIAS KPOBATH.

Y Hero6 ecTb HOBBIN CIIOBAPE.
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